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The news

The positive results from the world's second-largest mobile phone maker will warm economists, who have been worried about a slowdown in consumer spending. 

"The world economies are today showing some underlying signs of a rebound, which, if not significantly disrupted by world events, could have a favourable impact on our markets as customers move towards renewing their capital spending," said chairman and chief executive Chris Galvin. 

Motorola faces stiff competition from Nokia, the world's largest mobile phone maker, and Samsung, both of whom have launched colour screen phones, which can take and send pictures to other phone users. 

But the US group still raised sales 11 per cent at its mobile phone division, to $3.29 billion (£2 billion), and it also took $2.1 billion (£1.29 billion) in orders. Stripping out special items, the division made $301 million (£186.2 million) profit at operating level, its highest since the fourth quarter of 1997. 

Motorola's share of the global mobile phone market rose to around 19 per cent. The division accounts for 44 per cent of overall revenue. 

The theory – Company Accounts

All companies are required by law to keep full and accurate records of their financial transactions. We are interested in two parts of a company’s accounts, namely its Balance Sheet and its Profit and Loss Account. 

The Balance Sheet – this records the values of assets and liabilities of the business. It is how they are valued at a precise moment in time. It shows us how the company has raised its capital and what this has been spent on.

The Profit and Loss Account – records a business’s revenues and expenditures and therefore shows how much profit or loss it has made. Like the Balance Sheet it shows us how the company has performed. 

The various stakeholders in a business look at the accounts for different reasons. These include managers using the ‘numbers’ to analyse performance, whilst employees will be looking for signs of security of employment. Shareholders will analyse to see if management is delivering and the government will want to see where its revenues are coming from. Others, such as potential investors will also be interested in performance and trends. Doubtless those owed money or owing it to the company will also examine the accounts to check on terms, conditions and security of their money.

By examining the accounts we can establish:

· trends

· how the company raises its capital

· decide on the true value of the business

· see if the business is borrowing large sums of money and for how long

· how quickly it turns over stock, gets in debts and pays its bills

· what it does with its profits

· compare its performance against similar companies

So, examining accounts is an important part of running any business.

Topic of the Week

Ratios 

One of the techniques used to examine accounts is the use of ratios. It is the use of one piece of information compared with another. They can show us many different facts about a company including:

· the performance of the business

· the risk of investing in a particular business

· whether you should supply, or take an order from a business

· seeing how one company compares with another

When using ratios we must be careful to note the length of time over which they have been calculated and compare like with like. Remember other factors than money show us how a company is performing. Such important indicators as future sales and the quality of management do not appear in the accounts.

There are three basic groups of ratios and the first of these is the liquidity variety. These tell us how much of the company assets are held in cash, or can be turned into cash quite quickly. A successful and healthy company can afford to pay its bills and have some left over. However, too much liquidity is also a bad thing! Idle money costs you money. 

We can measure liquidity in several ways. These include the acid test ratio, which is liquid assets (debtors +_ stock)/ current liabilities. This is normally considered to be reasonable when it lies somewhere between 0.5 and 1.0. It shows us that if everyone to whom we owe money wanted paying we could and have some left.

We also look at gearing, which shows how the long-term financial security of the company has been arranged. It shows us how much of the share capital has been acquired by borrowing and how much by raising share money. As we have to pay interest on loans before offering dividends to shareholders the ‘balance’ is of interest to a number of stakeholders. We calculate it as long term liabilities + preference shares x 100/ total capital employed. A ratio of more than 50% shows that the company has borrowed quite large sums of money as a proportion of its total capital employed.. However, if it is making enough profits to pay the interest and still satisfy shareholders then few will be concerned.

Some questions

1. What is meant by the term ‘operating profit’? 

2. How might Motorola have improved its operating profit over the last twelve months?

3. Explain why the acid test and gearing ratios would be of interest to prospective investors in Motorola.

4. Why might the growth in consumer capital spending help Motorola increase its profitability?

Some suggested answers.

1.Operating profit is the profit that the firm has made after indirect costs (overheads) have been deducted from the gross profit. To arrive at this figure you deduct the cost of sales from the turnover (total revenue – mainly sales) and then deduct the overheads from this.

1. It will have concentrated on expanding sales and in doing so aimed to widen margins. Costs will have been analysed and cut where possible, which once again would have widened margins. It will also have looked at overheads/indirect costs and reduced these wherever possible By following these strategies it should have increased its operating profit. As you will hopefully know other reductions, such as taxes will have been outside its control, so the final profit will have subject to other forces.

2. Prospective investors in Motorola would have been interested in the acid test as it would have shown how well the company was turning stock into sales, as the debtors figure shows us how many sales have been made on credit. They would also want to look at the cash balance and see whether its adequate or too large, in which case it could be used to earn money elsewhere, or if too little they may feel less interested in acquiring shares. Finally, they will note how well the company can cover its short-term debts. This again will show how the company and its assets are being managed. The gearing ratio will also be of interest as it will show the balance between equity (shares) and debt (interest). This will need to be compared against the market, profits, asset value and other factors. By looking at these ‘numbers’ over a number of years prospective investors can decide to invest or not.

3. The growth in capital spending should mean market growth in what for most is now an essential part of personal capital. Consumers will be spending more money on new phones ( up grades) and new extras, so Motorola should see their market share increase. By careful use of economies of scale they should be able to expand margins and aim to maximise revenue per customer. This is turn should feed through to profits and ultimately dividends. With rising dividends to task of raising future capital needs is made easier and the share value of the company should increase.

